
THIS DRAWING IS THE PROPERTY OF
AUSTRAL INSULATION AND MAY NOT
BE REPRODUCED IN WHOLE OR IN PART
WITHOUT THEIR PRIOR WRITTEN CONSENT.

ALL COPYRIGHT RESERVED.

PANEL END JOINT
COVERED BY 150 X 0.6MM FOLDED COLORBOND
WITH EXPANSION “V” BEND FIXED WITH
23MM STEEL (SELF TAPPING) SCREWS / RIVETS
INTERNAL SIDE:
@ 400MM CTRS
EXTERNAL SIDE:
@ 300MM CTRS MASTIC UNDER &
OVERSEALED WITH SIKAFLEX

PANEL END JOINT

MUSHROOM HEAD
M12 GALV. STEEL ALLTHREAD ROD 
M12 NUT & 62 X 2.0MM WASHER
(MASTIC UNDER EXTERNAL SIDE)
78 X 22MM M12 NYLON MUSHROOM HEAD

XFLAM™ CORE
INSULATED 
CEILING PANEL

M
AX

IM
U

M
 S

PA
N

SE
E 

SP
A

N
 C

H
A

RT
M

AX
IM

U
M

 S
PA

N
SE

E 
SP

A
N

 C
H

A
RT

CONDUCTION CUT & FLASHING

M
AX

IM
U

M
 S

PA
N

60
0M

M

M
AX

IM
U

M
 S

PA
N

60
0M

M

M
AX

IM
U

M
 S

PA
N

60
0M

M

CONTINUOUS GALV. STEEL CHANNEL SUPPORT 50 X 25 X 1.0

CONTINUOUS GALV. STEEL CHANNEL SUPPORT 50 X 25 X 1.0

CONTINUOUS GALV. STEEL CHANNEL SUPPORT 50 X 25 X 1.0

PANEL END JOINT
COVERED BY 150 X 0.6MM 
FOLDED COLORBOND
WITH EXPANSION “V” BEND 
FIXED WITH 23MM 
STEEL (SELF TAPPING) SCREWS
INTERNAL SIDE:
@ 400MM CTRS
EXTERNAL SIDE:
@ 300MM CTRS 

SUSPENSION:
M12 GALV. STEEL 
ALLTHREAD ROD
GALV. STEEL PLATE 
200 X 40 X 8MM
M12 NUT & WASHER 
& M12 DOME NUT

CONTINUOUS GALV. STEEL CHANNEL SUPPORT 50 X 25 X 1.0

CONTINUOUS GALV. STEEL CHANNEL SUPPORT 50 X 25 X 1.0

SUSPENSION

PANEL END JOINT

SUSPENSION

XFLAM™ CORE
INSULATED 
CEILING PANEL

M
AX

IM
U

M
 S

PA
N

SE
E 

SP
A

N
 C

H
A

RT
M

AX
IM

U
M

 S
PA

N
SE

E 
SP

A
N

 C
H

A
RT

CONDUCTION CUT 
& FLASHING

M
AX

IM
U

M
 S

PA
N

60
0M

M

M
AX

IM
U

M
 S

PA
N

60
0M

M

M
AX

IM
U

M
 S

PA
N

60
0M

M
OPTIONAL SUSPENSION PLAN LAYOUT

CONTINUOUS GALV. STEEL CHANNEL SUPPORT 50 X 25 X 1.0

PLAN LAYOUT

FIRE RATED DETAILS
XFlam™ Panel
TYPICAL SUSPENSION LAYOUT

Drawn SDH

Date 26.03.08

Rev. 

Checked 

Drng. No. C5


